—

-J01119

. INSTRUCTIONS

REV. 8-1-88

—P-

Kit Numbers 40983-86, 41015-86

WHEEL KIT

General

These wheel kits are furnished with two sets of sprocket
bolts. The purpose of this Instruction Sheet is to specify the
correct bolts for each application. Refer to the GENERAL
Instruction Sheet, also included, for detailed procedures to
mount to tire and wheel onto vehicle.

Installation

If wheel is to be used on XL model vehicles attach sprocket
to wheel with 7/16-14 x 1-1/2 in. bolts. Torque to 50-55 ft-lbs
(68-75 Nm).

If wheel is to be used on FXR model vehicles attach
sprocket to wheel with 7/16-14 x 1-3/4 in. bolts and 7/16 in.
flat washers. Torque to 65-70 ft-lbs (88-95 Nm).

— Y

HARLEY-DAVIDS(

I\

-J01119

INSTRUCTIONS

REV. 8-1-88

—FF-

Kit Numbers 40983-86, 41015-86

WHEEL KIT

General

These wheel kits are furnished with two sets of sprocket
bolts. The purpose of this Instruction Sheet is to specify the
correct bolts for each application. Refer to the GENERAL
Instruction Sheet, also included, for detailed procedures to
mount to tire and wheel onto vehicle.

Installation

If wheel is to be used on XL model vehicles attach sprocket
to wheel with 7/16-14 x 1-1/2 in. bolts. Torque to 50-55 ft-lbs
(68-75 Nm).

If wheel is to be used on FXR model vehicles attach
sprocket to wheel with 7/16-14 x 1-3/4 in. bolts and 7/16 in.
flat washers. Torque to 65-70 ft-lbs (88-95 Nm).



